M AMEBE

HEEUEAN FHEUS
)= T4—FH

OEMIMRIEE 300,000 GEEBCFFKEEERAEZLSIV-2BEEHELBLES.)
QEEE 28 900 (REICHETHELDTT,)
CLEE 46,940 (EQEEICEHONE-BEOLBBITHLTEEDTT )

@Y—FEXEHE TRICKYROFEELYET,
(EOEEZIZLYEOHON-2EEMALTESET, IWAICKYBMENBYET,)

X Y—ERRHERVEES . EFHEMR -2 (BHI6E6H H\ o O Efifl)
B RE HMRIRAIZKHEE XS Y—ERRHE H—ERRUE+ETEEEE
1 1,500,000 LA 10,0004 85,840
2 1,500,001 ~1,600,000H 13,0001 88,840
3 1,600,001 ~1,700,000H 16,0001 91,840
4 1,700,001 ~1,800,000H 19,000 94,840
5 1,800,001 ~1,900,0004 22,000 97,840
6 1,900,001 ~2,000,000H 25,000 100,840
7 2,000,001 ~2,100,0004 30,000 105,840
8 2,100,001 ~2,200,0004 35,000 110,840
9 2,200,001 ~2,300,0004 40,000 115,840
10 2,300,001 ~2,400,0004 45,000 120,840
11 2,400,001 ~2,500,0004 50,000 125,840
12 2,500,001 ~2,600,000 57,000 132,840
13 2,600,001 ~2,700,0004 64,000 139,840
14 2,700,001 ~2,800,0004 71,000 146,840
15 2,800,001 ~2,900,000 78,000 153,840
16 2,900,00114~3,300,0004 85,000 160,840
17 3,000,001 ~3,100,000H] 92,000 167,840
18 3,100,001 2L I 100,1004 175,940

(£ D hFI R -]
OESR-KE-BEHEE SENA—F—-ICKIRE

©3cER 200 (1=4)
R 100 (1[E#)
OHEE 2,100 E=(7TA~9A)
BEEE 2,100 #=(11A~3A)
@EEFHRKRH 500 KRR
OJ=P=E - 200M

1. QBEHEQEFTE+@Y—ERRHMBDOAN. AEHSETEDRAIZEYELIDBERTY,
FNUNIRNERETDIERELGYET,
2, KIFTH T NIRIZABTRBEICONTIH, RIBEFALFNORARUVLERELZSEL.
BEHED2HD1EBE R DFMEWRAELET,
ZDEIIS0FFALUTICEZYTIEENH. U —ERREEN TN ETNI0%BEELLYET,



